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alar|a|b|bi|b2|bs|bs|c|ci|d|di|e|h|hi|h2|hs|hsa|hs|hs| £ (kg)
SEEIOvY KER IECF) -|—-1-1-1-1-1]220] - |30| - |182| - -|—-1|-[150/80| - | - |600 35
S$EEIAvy KERIROAI(ESAL) (150157 — (165(168| - | - | - | - | - | - | —| - (150110 - | - | = | — | — 1600 29
SEEIOvy KARORoBI(EET) | — [157|163| — [168/170 - | - | - |- |- | - | - | - [110/70| - | - | = | — |600 21
$EEIOvY KARNVE(ER) 150/ — | — [165] — | — |220| — | 30| — |182| — | 8 [150] — | — [150/80| — | — |600 35
S$BEEIOvY KARVE(ER) - |- 1163 - | — [170]220| - |30| — (182 — | 8 | — | — |70{150{80| — | — |600 26
SEBIOvy KERWROANESRL) (150 — | — 170 — | — | — [195) — |90 | — |[105] — |200| — | — | — | — [175]|140/600 44
SEETOv KARWROBIEET) | — | — | — | — | — | — |220{195/ 30|90 (182105 8 | — | — | — [150| 80 |175(140(600 39




